sum(unsigned char¥*,

.LOOP:

.END:

sub
stur
stur
mov
mov
mov

cmp
bge
add
1drb
add
add
b

mov
ldur
ldur
add
bx

sp,
r4,

rs,
r3,
r2,
rs,

r2,
.END
r4,
rs,
r3,
r2,
.LOO

ro,
r4,
rs,

sp,
lr

int):
sp, #16 //allocate space in stack pointer(rl3)
[sp, #8] //save r4 into stack(callee saved)

[sp, #16] //save r5 into stack(callee saved)

#0 //s =0

# //1 =0

#0 //zeros out r5(loaded value is 4 bit, so the upper 4 bits should be zeroed out)

r3 //i < length?

roe, r2 //calculate address
[r4] //load the value to r5
r3, rs5 // s+= array[iﬂ

r2, #1 //i++

P

r3

[sp, #8] //load r4 into stack
[sp, #16] //load r5 into stack
sp, #16

//branch back to link register to return
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2
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Modify
the form PC + cons

jumping to an absolute

question 3:

]

MU X

N A oo

BS, CB, w07

\@,R\

0

WE
1 l CALL
Hi RO S WD we = w'{ ] s &
Instruction
Memory Register File
Mern Dot
D D1 0o Kon
ENABLE
OPC Data
I Memory
' Oata
A 0-PASS A Adress
1-PASS B
-y U_Ou]
3m-
4=’ MUX
5= AND
[ * 6= OR
UX | 7 = INVERT A
"1 UX
-t ALU B8SLTA<B
B_INPUT

MEM._RW MEM_E | B_INPUT | CALL | BT CB BS | OPC | WE | WS | R1 | RO

i ' stion 2 to support a PC relative branch. Specificall
e archltectur? ;cr)?nt;oqu:econditional and unconditional branches. Your
w address (constant) that is specified in the architecture.

Yy Support branching of

solution can drop support for



